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1. (1) (1450) + (2= 3i) = (1+2) + (5i — 3i) = 3 + 2
(2) (54 6i) — (3 —5i) = (5 — 3) + (6i — (—5i)) = 2 + 11
(3) (=i)° = (=1)°¢° = (=1)°*i%i = (=1)° (=1) (=1)i = —i

(4) (34 2i)(3 — 44)
=3 x 343 x (—41) 4+ (24) x 3+ (24) x (—47)
=9—-1204+6:+8=17—- 62

(5) (3+24)(3 —2i)
=3 x 3+ 3 x(—21)+ (20) x 3+ (2¢) x (—29)
=9—-6i+60+4=13

l—i  (l—p(—i) =2 =2

) 23 _ (2+30)(4+5i)  —T+22  —T+22
4

—5i  (4—5i)(4+5i) 42— (5i)2 41
T 22
——H‘i‘ﬁl

©) 2 21— _2(1—;):1_2_

T4+ (T4+4)(1—4) 12— (§)?

2. BIZIE2=14+2i, w=2+2i &9 5.

(1) 2w = —246i 295
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BIRBIZHBEN 6 argz— G

tanargw = 2 = V3 Tw FEBARRCH 505 argw = -3
2

ZIZED

(o)
Z = COS — 7811 —
6 6

w=1 (COS (—g) + 7 sin <—g)>
cw=+V3—1il%
2w = \/(ﬁ)2+(—1)2:2

tan arg(zw) = 7% T 2w I ZH3RBITH 206 arg(zw) =

PAEDS



2w = 2 (cos <—%> 4+ 7 sin (—%))
221k

w

% =2 (cos (g) + 7sin (g))

(4) |zw] =2=2x%x 1= |z||w]|
arg(zw) = —% = T + (—F) = arg(z) + arg(w)

g 2_ I
w 1 |w
argi = g = % — (—g) = arg(z) — arg(w)
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